
$���'�/ �$��$���� �$��&���

�<4 ?D4>F<><: GG55=4O
&<? ?D4>F<><: F5E=>?>7<G5E>4O (?D><76>4EF65==>-F5E=>?>7<G5E>4O) 
%?>E>5 ?D>6545=<O: 6O574=4O; EF4F<>=4D=4O
�4?D46?5=<5 ?>47>F>6><: 23.03.03 ->E??G4F4F<O FD4=E?>DF=>-

F5E=>?>7<G5E><E <4L<= < >><??5>E>6 
�D>D<?L ?>47>F>6><: �6F><>5<?< < 46F><>5<?L=>5 E>7O=EF6>
�64?<D<>4F<O 6O?GE>=<>4 54>4?46D
$>D<4 >5GG5=<O: 74>G=4O

«'&��$���.»
�<D5>F>D

&5E=>?>7<G5E>>7> <=EF<FGF4-D<?<4?4 
$���' �� '?LO=>6E><= ��'

�.%. �O><=

����%&�$%&��  %��,%���� %��/�%&�� $�%%��%��� $���$�&�� 
&�%������'�%��� ��%&�&'& 3 $����� $���$��,���� ��%'��$%&������� 

�.���&���� ��$�����&��,���� ''$������/ �/%,��� ��$�������/
 «'�,/���%��� ��%'��$%&����/� ��$�$�/� '����$%�&�& ����� 

�.�.%&��/����»

7. �<<<FD>67D44 3 2023 7.



1. &��� �%�����/ �$��&���
&5?O<< GG55=>= ?D4>F<>< O6?ONFEO D>D<<D>64=<5 G EFG45=F>6 7=4=<= ?> 

F5E=<G5E>><G >5E?G6<64=<N < D5<>=FG 46F><>5<?5=, >E=>64< ?D><76>4EF65==>7>
?D>F5EE4 M>E??G4F4F<< < E5D6<E=>7> >5E?G6<64=<O 46F><>5<?5=, 4 F4>65 ?D4>F<G5E><E 
=46O>>6 ?> D4F<>=4?L=><G < 557>?4E=><G E5D6<E=><G >5E?G6<64=<N 46F><>5<?5= 6
GE?>6<OE D54?L=>= M>E??G4F4F<<.

2. ����'� ''����� �$��&���
�444G4<< GG55=>= ?D4>F<>< O6?ONFEO: 
3 <7GG5=<5 F5E=>?>7<G5E>>7> >5>DG4>64=<O, ?D<E?>E>5?5=<= < <=EFDG<5=F4 4?O

?D>6545=<O F5E=<G5E>>7> E5D6<E4 46F><>5<?5=;

3 <7GG5=<5 F5E=>?>7<< < ?D46<? F5E=<G5E>>7> >5E?G6<64=<O <5E4=<7<>6 < E<EF5<
46F><>5<?5=;

3 6O?>?=5=<5 >E=>6=OE F5E=>?>7<G5E><E >?5D4F<= ?> F5E=<G5E>><G
>5E?G6<64=<N < D5<>=FG 46F><>5<?5=;

3 6O?>?=5=<5 >E=>6=OE F5E=>?>7<G5E><E >?5D4F<= ?> GEFD4=5=<N =5<E?D46=>EF5=
6 <5E4=<7<4E < E<EF5<4E 46F><>5<?5=;

3 >5E?G6<64=<5 FD4=E?>DF=OE < FD4=E?>DF=>-F5E=>?>7<G5E><E <4L<= < 
FD4=E?>DF=>7> >5>DG4>64=<O;

3 6O?>?=5=<5 D45>F ?> >4=>= <?< =5E>>?L><< ?D>D5EE<O< D45>G<E;
3 >55E?5G5=<5 M>E??G4F4F<< FD4=E?>DF=OE < FD4=E?>DF=>-F5E=>?>7<G5E><E 

<4L<= < >5>DG4>64=<O, <E?>?L7G5<OE 6 >FD4E?OE =4D>4=>7> E>7O=EF64 6 E>>F65FEF6<< E 
FD55>64=<O<< =>D<4F<6=>-F5E=<G5E><E 4>>G<5=F>6;

3 GG4EF<5 6 ?D>6545=<< D45>F ?> F5E=<G5E>><G >5E?G6<64=<N < D5<>=FG
FD4=E?>DF=OE < FD4=E?>DF=>-F5E=>?>7<G5E><E <4L<= < >5>DG4>64=<O.

3. ��%&� �$��&��� � %&$'�&'$� ����
'G55=4O ?D4>F<>4: F5E=>?>7<G5E>4O (?D><76>4EF65==>-F5E=>?>7<G5E>4O) >F=>E<FEO 

> �?>>G 2 «�D4>F<><» >5O74F5?L=4O G4EFL (�2.�.02(')) >E=>6=>= ?D>D5EE<>=4?L=>= 
>5D47>64F5?L=>= ?D>7D4<<O. �E64<645FEO =4 2 >GDE5 6 4 E5<5EFD5 =4 74>G=>= D>D<5 
>5GG5=<O.

'G55=4O ?D4>F<>4 547<DG5FEO =4 7=4=<OE ?5D6<G=OE ?D>D5EE<>=4?L=OE G<5=<= < 
=46O>>6, 6 F.G. ?5D6<G=OE G<5=<= < =46O>>6 =4GG=>-<EE?54>64F5?LE>>= 45OF5?L=>EF<; 
>E=>64E G?D46?5=<O 46F><>5<?O<<;

�D4>F<>4 E>7445F F5>D5F<G5E>GN < ?D4>F<G5E>GN >E=>6G 4?O <7GG5=<O 
?>E?54GNM<E 4<EF<??<=: &5E=<G5E><= E5D6<E M?5>FD>==OE E<EF5< 46F><>5<?5=; 
&5E=<G5E><= E5D6<E FD4=E?>DF=>-F5E=>?>7<G5E><E <4L<= < >><??5>E>6; &>>4D=>5 < 
E?5E4D=>5 45?>; %5D6<E F>??<6=>= 4??4D4FGDO; �D><76>4EF65==4O ?D4>F<>4 ?> 
?>?GG5=<N ?D>D5EE<>=4?L=OE G<5=<= < >?OF4 ?D>D5EE<>=4?L=>= 45OF5?L=>EF<;
�D><76>4EF65==4O F5E=>?>7<G5E>4O ?D4>F<>4; �D><76>4EF65==4O D5<>=F=4O ?D4>F<>4;
�D544<??><=4O ?D4>F<>4.

4. ���, %��%�� � $�$�� �$�������/ �$��&���
�<4 ?D4>F<><: GG55=4O.
%?>E>5 ?D>6545=<O: EF4F<>=4D=4O; 6O574=4O
$>D<4 ?D>6545=<O ?D4>F<>< - 4<E>D5F=>, ?GF5< 6O45?5=<O 6 >4?5=44D=>< GG55=>< 

7D4D<>5 =5?D5DO6=>7> ?5D<>44 GG55=>7> 6D5<5=< 4?O ?D>E>645=<O >464>7> 6<44 
(E>6>>G?=>EF< 6<4>6) ?D4>F<><. 

�D>6>4<FEO 6 D>D<5 >>=F4>F=>= D45>FO < D>D<5 <=4<6<4G4?L=>= D45>FO, 
=4?D46?5==>= =4 >7=4>><?5=<5 E >E>55==>EFO<< ?D>D5EE<>=4?L=>= D45>FO, 6>?NG4O 



6O?>?=5=<5 << 6D5<5==OE D47>6OE <?< ?>EF>O==OE 7444=<= ?> ?>DGG5=<O< DG>>6>4<F5?O 
?D4>F<><.

5. ��%&� � �$��/ �$�������/ �$��&���
�5EF> ?D>6545=<O 3 ?45>D4F>D<< >4D54DO «%5D6<E < <5E4=<>4», GG55=O= ?4D> 

6G74, 6 EFDG>FGD=OE ?>4D4745?5=<OE >D74=<74F<=: 6 D5<>=F=OE ?>4D4745?5=<OE < 
?D54?D<OF<OE; F5=FD4?L=OE D5<>=F=OE <4EF5DE><E E>7O=EF6 D47?<G=OE D>D< 
E>5EF65==>EF<; ?D54?D<OF<OE, >EGM5EF6?ONM<E 74D4=F<==>5 < E5D6<E=>5 >5E?G6<64=<5 
FD4=E?>DF=> - F5E=>?>7<G5E><E <4L<= < >><??5>E>6; 46F>FD4=E?>DF=OE ?D54?D<OF<OE.

�4?D46?5=<5 EFG45=F>6 =4 ?D4>F<>G ?D><76>4<FEO =4 >E=>65 4>7>6>D>6, 
74>?NG5==OE <564G 6G7>< < 547>= ?D4>F<>< (D55EFD 4>7>6>D>6 ?D54EF46?5= =4 E4=F5 6G74 
http://ulsau.ru/upload/documents/umu_doc/oopist/reestr_dogovorov.pdf), <?< ?> 
<=4<6<4G4?L=O< 4>7>6>D4< =4 >E=>64=<< 74O6>< ?D54?D<OF<= (>D74=<74F<=).

�D5<O ?D>6545=<5 ?D4>F<>< 3 2 >GDE 4 E5<5EFD (74>G=4O D>D<4 >5GG5=<O).
'=<65DE4?L=O5 >><?5F5=F<<

�>4 
>><?5F5=F<<

$57G?LF4FO >E6>5=<O 
��

�>4 < =4<<5=>64=<5 <=4<>4F>D4 4>EF<65=<O 
G=<65DE4?L=>= >><?5F5=F<<

'�-4 %?>E>55= 
>EGM5EF6?OFL 
45?>6GN 
>><<G=<>4F<N 6 
GEF=>= < ?<EL<5==>= 
D>D<4E =4 
7>EG44DEF65==>< 
O7O>5 $>EE<=E>>= 
$545D4F<< < 
<=>EFD4==><(OE) 
O7O>5(4E)

'�-4.1 �O5<D45F =4 7>EG44DEF65==>< < 
<=>EFD4==>< (-OE) O7O>4E >><<G=<>4F<6=> 
?D<5<?5<O5 EF<?L 45?>6>7> >5M5=<O, 
65D54?L=O5 < =565D54?L=O5 ED54EF64 
674<<>45=EF6<O E ?4DF=5D4<<. 
'�-4.2 �E?>?L7G5F <=D>D<4F<>==>-

>><<G=<>4F<>==O5 F5E=>?>7<< ?D< ?><E>5 
=5>5E>4<<>= <=D>D<4F<< 6 ?D>F5EE5 D5L5=<O 
EF4=44DF=OE >><<G=<>4F<6=OE 7444G =4 
7>EG44DEF65==>< < <=>EFD4==>< (-OE) O7O>4E 
'�-4.3 �545F 45?>6GN ?5D5?<E>G, GG<FO64O 
>E>55==>EF< EF<?<EF<>< >D<F<4?L=OE < 
=5>D<F<4?L=OE ?<E5<, E>F<>>G?LFGD=O5 
D47?<G<O 6 D>D<4F5 >>DD5E?>=45=F<< =4 
7>EG44DEF65==>< < <=>EFD4==>< (-OE) O7O>4E. 
'�-4.4 �5<>=EFD<DG5F <=F57D4F<6=O5 G<5=<O 
<E?>?L7>64FL 4<4?>7<G5E>>5 >5M5=<5 4?O 
E>FDG4=<G5EF64 6 4>445<<G5E>>= 
>><<G=<>4F<< >5M5=<O.
'�-4.5 �5<>=EFD<DG5F G<5=<5 6O?>?=OFL 
?5D56>4 ?D>D5EE<>=4?L=OE F5>EF>6 E 
<=>EFD4==>7> (-OE) =4 7>EG44DEF65==O= O7O> < 
>5D4F=>.

�5M5?D>D5EE<>=4?L=O5 >><?5F5=F<<
���-3 %?>E>55= 6 ED5D5 

E6>5= 
?D>D5EE<>=4?L=>= 
45OF5?L=>EF< 
?D>6>4<FL <7<5D5=<O 
< =45?N45=<O, 
>5D454FO64FL < 
?D54EF46?OFL 
M>E?5D<<5=F4?L=O5 
44==O5 < D57G?LF4FO 
<E?OF4=<=.

��-1���-3 � ED5D5 
>D74=<74F<< 
F5E=<G5E>>7> 
>5E?G6<64=<O < 
D5<>=F4 FD4=E?>DF=>-

F5E=>?>7<G5E><E 
>><??5>E>6 ?D>6>4<F 
<7<5D5=<O < 
=45?N45=<O, 
>5D454FO645F < 
?D54EF46?O5F 

�=4FL:
- >?4EE<G5E><5 < 
E>6D5<5==O5 <5F>4O 
<EE?54>64=<O, 
<7<5D5=<= < 
=45?N45=<=, >5D45>F>G 
< ?D54EF46?5=<5 
M>E?5D<<5=F4?L=OE 
44==OE < D57G?LF4F>6 
<E?OF4=<= 6 ED5D5 
>D74=<74F<< 

http://ulsau.ru/upload/documents/umu_doc/oopist/reestr_dogovorov.pdf


M>E?5D<<5=F4?L=O5 
44==O5 < D57G?LF4FO 
<E?OF4=<=

F5E=<G5E>>7> 
>5E?G6<64=<O < 
D5<>=F4 FD4=E?>DF=>-

F5E=>?>7<G5E><E 
>><??5>E>6
'<5FL:
- <E?>?L7>64FL 
>?4EE<G5E><5 < 
E>6D5<5==O5 <5F>4O 
<EE?54>64=<O, 
?D>6>4<FL <7<5D5=<O < 
=45?N45=<O, 
>5D454FO64FL < 
?D54EF46?OFL 
M>E?5D<<5=F4?L=O5 
44==O5 < D57G?LF4FO 
<E?OF4=<= 6 ED5D5 
>D74=<74F<< 
F5E=<G5E>>7> 
>5E?G6<64=<O < 
D5<>=F4 FD4=E?>DF=>-

F5E=>?>7<G5E><E 
>><??5>E>6
�?445FL:
- =46O>4<< 
<E?>?L7>64=<O 
>?4EE<G5E><E < 
E>6D5<5==OE <5F>4>6 
<EE?54>64=<O, 
?D>6545=<O <7<5D5=<= 
< =45?N45=<=, 
>5D45>F>< < 
?D54EF46?5=<O 
M>E?5D<<5=F4?L=OE 
44==OE < D57G?LF4F>6 
<E?OF4=<= 6 ED5D5 
>D74=<74F<< 
F5E=<G5E>>7> 
>5E?G6<64=<O < 
D5<>=F4 FD4=E?>DF=>-

F5E=>?>7<G5E><E 
>><??5>E>6



��-2���-3 � ED5D5 
>D74=<74F<< 
M>E??G4F4F<< 
FD4=E?>DF=>-

F5E=>?>7<G5E><E 
>><??5>E>6 ?D>6>4<F 
<7<5D5=<O < 
=45?N45=<O, 
>5D454FO645F < 
?D54EF46?O5F 
M>E?5D<<5=F4?L=O5 
44==O5 < D57G?LF4FO 
<E?OF4=<=

�=4FL:
- >?4EE<G5E><5 < 
E>6D5<5==O5 <5F>4O 
<EE?54>64=<O, 
<7<5D5=<= < 
=45?N45=<=, >5D45>F>G 
< ?D54EF46?5=<5 
M>E?5D<<5=F4?L=OE 
44==OE < D57G?LF4F>6 
<E?OF4=<= 6 ED5D5 
>D74=<74F<< 
M>E??G4F4F<< 
FD4=E?>DF=>-

F5E=>?>7<G5E><E 
>><??5>E>6
'<5FL:
- <E?>?L7>64FL 
>?4EE<G5E><5 < 
E>6D5<5==O5 <5F>4O 
<EE?54>64=<O, 
?D>6>4<FL <7<5D5=<O < 
=45?N45=<O, 
>5D454FO64FL < 
?D54EF46?OFL 
M>E?5D<<5=F4?L=O5 
44==O5 < D57G?LF4FO 
<E?OF4=<= 6 ED5D5 
>D74=<74F<< 
M>E??G4F4F<< 
FD4=E?>DF=>-

F5E=>?>7<G5E><E 
>><??5>E>6
�?445FL:
- =46O>4<< 
<E?>?L7>64=<O 
>?4EE<G5E><E < 
E>6D5<5==OE <5F>4>6 
<EE?54>64=<O, 
?D>6545=<O <7<5D5=<= 
< =45?N45=<=, 
>5D45>F>< < 
?D54EF46?5=<O 
M>E?5D<<5=F4?L=OE 
44==OE < D57G?LF4F>6 
<E?OF4=<= 6 ED5D5 
>D74=<74F<< 
M>E??G4F4F<< 
FD4=E?>DF=>-

F5E=>?>7<G5E><E 
>><??5>E>6

��-3���-3 � ED5D5 
D47D45>F>4 <5D ?> 

�=4FL:
- >?4EE<G5E><5 < 



?>6OL5=<N 
MDD5>F<6=>EF< 
<E?>?L7>64=<O 
FD4=E?>DF=>-

F5E=>?>7<G5E><E 
>><??5>E>6 ?D>6>4<F 
<7<5D5=<O < 
=45?N45=<O, 
>5D454FO645F < 
?D54EF46?O5F 
M>E?5D<<5=F4?L=O5 
44==O5 < D57G?LF4FO 
<E?OF4=<=

E>6D5<5==O5 <5F>4O 
<EE?54>64=<O, 
<7<5D5=<= < 
=45?N45=<=, >5D45>F>G 
< ?D54EF46?5=<5 
M>E?5D<<5=F4?L=OE 
44==OE < D57G?LF4F>6 
<E?OF4=<= 6 ED5D5 
D47D45>F>4 <5D ?> 
?>6OL5=<N 
MDD5>F<6=>EF< 
<E?>?L7>64=<O 
FD4=E?>DF=>-

F5E=>?>7<G5E><E 
>><??5>E>6
'<5FL:
- <E?>?L7>64FL 
>?4EE<G5E><5 < 
E>6D5<5==O5 <5F>4O 
<EE?54>64=<O, 
?D>6>4<FL <7<5D5=<O < 
=45?N45=<O, 
>5D454FO64FL < 
?D54EF46?OFL 
M>E?5D<<5=F4?L=O5 
44==O5 < D57G?LF4FO 
<E?OF4=<= 6 ED5D5 
D47D45>F>4 <5D ?> 
?>6OL5=<N 
MDD5>F<6=>EF< 
<E?>?L7>64=<O 
FD4=E?>DF=>-

F5E=>?>7<G5E><E 
>><??5>E>6
�?445FL:
- =46O>4<< 
<E?>?L7>64=<O 
>?4EE<G5E><E < 
E>6D5<5==OE <5F>4>6 
<EE?54>64=<O, 
?D>6545=<O <7<5D5=<= 
< =45?N45=<=, 
>5D45>F>< < 
?D54EF46?5=<O 
M>E?5D<<5=F4?L=OE 
44==OE < D57G?LF4F>6 
<E?OF4=<= 6 ED5D5 
D47D45>F>4 <5D ?> 
?>6OL5=<N 
MDD5>F<6=>EF< 
<E?>?L7>64=<O 
FD4=E?>DF=>-



F5E=>?>7<G5E><E 
>><??5>E>6

���-4 %?>E>55= 
<E?>?L7>64FL 
E>6D5<5==O5 
<=D>D<4F<>==O5 
F5E=>?>7<< < 
?D>7D4<<=O5 
ED54EF64 ?D< 
D5L5=<< 7444G 
?D>D5EE<>=4?L=>= 
45OF5?L=>EF<.

��-1���-4 �E?>?L7G5F 
E>6D5<5==O5 
<=D>D<4-F<>==O5 
F5E=>?>7<< < 
?D>7D4<<=O5 ED54EF64
?D< D5L5=<< 7444G 6 
ED5D5 >D74=<74F<< 
F5E=<G5E>>7> 
>5E?G6<64=<O < 
D5<>=F4 FD4=E?>DF=>-

F5E=>?>7<G5E><E 
>><??5>E>6

�=4FL:
- E>6D5<5==O5 
<=D>D<4-F<>==O5 
F5E=>?>7<< < 
?D>7D4<<=O5 ED54EF64 
?D< D5L5=<< 7444G 6 
ED5D5 >D74=<74F<< 
F5E=<G5E>>7> 
>5E?G6<64=<O < 
D5<>=F4 FD4=E?>DF=>-

F5E=>?>7<G5E><E 
>><??5>E>6
'<5FL:
- <E?>?L7>64FL 
E>6D5<5==O5 
<=D>D<4F<>==O5 
F5E=>?>7<< < 
?D>7D4<<=O5 ED54EF64 
?D< D5L5=<< 7444G 6 
ED5D5 >D74=<74F<< 
F5E=<G5E>>7> 
>5E?G6<64=<O < 
D5<>=F4 FD4=E?>DF=>-

F5E=>?>7<G5E><E 
>><??5>E>6
�?445FL:
- =46O>4<< 
<E?>?L7>64=<O 
E>6D5<5==OE 
<=D>D<4F<>==OE 
F5E=>?>7<= < 
?D>7D4<<=OE ED54EF6 
?D< D5L5=<< 7444G 6 
ED5D5 >D74=<74F<< 
F5E=<G5E>>7> 
>5E?G6<64=<O < 
D5<>=F4 FD4=E?>DF=>-

F5E=>?>7<G5E><E 
>><??5>E>6

��-2���-4 �E?>?L7G5F 
E>6D5<5==O5 
<=D>D<4F<>==O5 
F5E=>?>7<< < 
?D>7D4<<=O5 
ED54EF64 ?D< D5L5=<< 
7444G 6 ED5D5 
>D74=<74F<< 
M>E??G4F4F<< 
FD4=E?>DF=>-

F5E=>?>7<G5E><E 

�=4FL:
- E>6D5<5==O5 
<=D>D<4-F<>==O5 
F5E=>?>7<< < 
?D>7D4<<=O5 ED54EF64 
?D< D5L5=<< 7444G 6 
ED5D5 >D74=<74F<< 
M>E??G4F4F<< 
FD4=E?>DF=>-

F5E=>?>7<G5E><E 
>><??5>E>6



>><??5>E>6 '<5FL:
- <E?>?L7>64FL 
E>6D5<5==O5 
<=D>D<4F<>==O5 
F5E=>?>7<< < 
?D>7D4<<=O5 ED54EF64 
?D< D5L5=<< 7444G 6 
ED5D5 >D74=<74F<< 
M>E??G4F4F<< 
FD4=E?>DF=>-

F5E=>?>7<G5E><E 
>><??5>E>6
�?445FL:
- =46O>4<< 
<E?>?L7>64=<O 
E>6D5<5==OE 
<=D>D<4F<>==OE 
F5E=>?>7<= < 
?D>7D4<<=OE ED54EF6
?D< D5L5=<< 7444G 6 
ED5D5 >D74=<74F<< 
M>E??G4F4F<< 
FD4=E?>DF=>-

F5E=>?>7<G5E><E 
>><??5>E>6

��-3���-4 �E?>?L7G5F 
E>6D5<5==O5 
<=D>D<4F<>==O5 
F5E=>?>7<< < 
?D>7D4<<=O5 
ED54EF64 ?D< D5L5=<< 
7444G 6 ED5D5 
D47D45>F>4 <5D ?> 
?>6OL5=<N 
MDD5>F<6=>EF< 
<E?>?L7>64=<O 
FD4=E?>DF=>-

F5E=>?>7<G5E><E 
>><??5>E>6

�=4FL:
- E>6D5<5==O5 
<=D>D<4-F<>==O5 
F5E=>?>7<< < 
?D>7D4<<=O5 ED54EF64 
?D< D5L5=<< 7444G 6 
ED5D5 D47D45>F>4 <5D 
?> ?>6OL5=<N 
MDD5>F<6=>EF< 
<E?>?L7>64=<O 
FD4=E?>DF=>-

F5E=>?>7<G5E><E 
>><??5>E>6
'<5FL:
- <E?>?L7>64FL 
E>6D5<5==O5 
<=D>D<4F<>==O5 
F5E=>?>7<< < 
?D>7D4<<=O5 ED54EF64 
?D< D5L5=<< 7444G 6 
ED5D5 D47D45>F>4 <5D 
?> ?>6OL5=<N 
MDD5>F<6=>EF< 
<E?>?L7>64=<O 
FD4=E?>DF=>-

F5E=>?>7<G5E><E 
>><??5>E>6



�?445FL:
- =46O>4<< 
<E?>?L7>64=<O 
E>6D5<5==OE 
<=D>D<4F<>==OE 
F5E=>?>7<= < 
?D>7D4<<=OE ED54EF6 
?D< D5L5=<< 7444G 6 
ED5D5 D47D45>F>4 <5D 
?> ?>6OL5=<N 
MDD5>F<6=>EF< 
<E?>?L7>64=<O 
FD4=E?>DF=>-

F5E=>?>7<G5E><E 
>><??5>E>6

���-5 %?>E>55= ?D<=<<4FL 
>5>E=>64==O5 
F5E=<G5E><5 D5L5=<O, 
6O5<D4FL 
MDD5>F<6=O5 < 
557>?4E=O5 
F5E=<G5E><5 ED54EF64, 
< F5E=>?>7<< ?D< 
D5L5=<< 7444G 
?D>D5EE<>=4?L=>= 
45OF5?L=>EF<

��-1���-5 �D<=<<45F 
>5>E=>64==O5 
F5E=<G5E><5 D5L5=<O, 
6O5<D45F 
MDD5>F<6=O5 < 
557>?4E=O5 
F5E=<G5E><5 ED54EF64, 
< F5E=>?>7<< ?D< 
D5L5=<< 7444G 6 
ED5D5 >D74=<74F<< 
F5E=<G5E>>7> 
>5E?G6<64=<O < 
D5<>=F4 FD4=E?>DF=>-

F5E=>?>7<G5E><E 
>><??5>E>6

�=4FL:
- >5>E=>64==O5 
F5E=<G5E><5 D5L5=<O, 
MDD5>F<6=O5 < 
557>?4E=O5 
F5E=<G5E><5 ED54EF64, < 
F5E=>?>7<< ?D< 
D5L5=<< 7444G 6 ED5D5 
>D74=<74F<< 
F5E=<G5E>>7> 
>5E?G6<64=<O < 
D5<>=F4 FD4=E?>DF=>-

F5E=>?>7<G5E><E 
>><??5>E>6
'<5FL:
- ?D<=<<4FL 
>5>E=>64==O5 
F5E=<G5E><5 D5L5=<O, 
6O5<D4FL MDD5>F<6=O5 
< 557>?4E=O5 
F5E=<G5E><5 ED54EF64, < 
F5E=>?>7<< ?D< 
D5L5=<< 7444G 6 ED5D5 
>D74=<74F<< 
F5E=<G5E>>7> 
>5E?G6<64=<O < 
D5<>=F4 FD4=E?>DF=>-

F5E=>?>7<G5E><E 
>><??5>E>6
�?445FL:
- =46O>4<< ?D<=OF<O 
>5>E=>64==OE 
F5E=<G5E><E D5L5=<=, 
6O5>D4 MDD5>F<6=OE < 
557>?4E=OE 
F5E=<G5E><E ED54EF6, < 
F5E=>?>7<= ?D< 



D5L5=<< 7444G 6 ED5D5 
>D74=<74F<< 
F5E=<G5E>>7> 
>5E?G6<64=<O < 
D5<>=F4 FD4=E?>DF=>-

F5E=>?>7<G5E><E 
>><??5>E>6

��-2���-5 �D<=<<45F 
>5>E=>64==O5 
F5E=<G5E><5 D5L5=<O, 
6O5<D45F 
MDD5>F<6=O5 < 
557>?4E=O5 
F5E=<G5E><5 ED54EF64, 
< F5E=>?>7<< ?D< 
D5L5=<< 7444G 6 
ED5D5 >D74=<74F<< 
M>E??G4F4F<< 
FD4=E?>DF=>-

F5E=>?>7<G5E><E 
>><??5>E>6

�=4FL:
- >5>E=>64==O5 
F5E=<G5E><5 D5L5=<O, 
MDD5>F<6=O5 < 
557>?4E=O5 
F5E=<G5E><5 ED54EF64, < 
F5E=>?>7<< ?D< 
D5L5=<< 7444G 6 ED5D5 
>D74=<74F<< 
M>E??G4F4F<< 
FD4=E?>DF=>-

F5E=>?>7<G5E><E 
>><??5>E>6
'<5FL:
- ?D<=<<4FL 
>5>E=>64==O5 
F5E=<G5E><5 D5L5=<O, 
6O5<D4FL MDD5>F<6=O5 
< 557>?4E=O5 
F5E=<G5E><5 ED54EF64, < 
F5E=>?>7<< ?D< 
D5L5=<< 7444G 6 ED5D5 
>D74=<74F<< 
M>E??G4F4F<< 
FD4=E?>DF=>-

F5E=>?>7<G5E><E 
>><??5>E>6
�?445FL:
- =46O>4<< ?D<=OF<O 
>5>E=>64==OE 
F5E=<G5E><E D5L5=<=, 
6O5>D4 MDD5>F<6=OE < 
557>?4E=OE 
F5E=<G5E><E ED54EF6, < 
F5E=>?>7<= ?D< 
D5L5=<< 7444G 6 ED5D5 
>D74=<74F<< 
M>E??G4F4F<< 
FD4=E?>DF=>-

F5E=>?>7<G5E><E 
>><??5>E>6

��-3���-5 �D<=<<45F 
>5>E=>64==O5 
F5E=<G5E><5 D5L5=<O, 
6O5<D45F 

�=4FL:
- >5>E=>64==O5 
F5E=<G5E><5 D5L5=<O, 
MDD5>F<6=O5 < 



MDD5>F<6=O5 < 
557>?4E=O5 
F5E=<G5E><5 ED54EF64, 
< F5E=>?>7<< ?D< 
D5L5=<< 7444G 6 
ED5D5 D47D45>F>4 <5D 
?> ?>6OL5=<N 
MDD5>F<6=>EF< 
<E?>?L7>64=<O 
FD4=E?>DF=>-

F5E=>?>7<G5E><E 
>><??5>E>6

557>?4E=O5 
F5E=<G5E><5 ED54EF64, < 
F5E=>?>7<< ?D< 
D5L5=<< 7444G 6 ED5D5 
D47D45>F>4 <5D ?> 
?>6OL5=<N 
MDD5>F<6=>EF< 
<E?>?L7>64=<O 
FD4=E?>DF=>-

F5E=>?>7<G5E><E 
>><??5>E>6
'<5FL:
- ?D<=<<4FL 
>5>E=>64==O5 
F5E=<G5E><5 D5L5=<O, 
6O5<D4FL MDD5>F<6=O5 
< 557>?4E=O5 
F5E=<G5E><5 ED54EF64, < 
F5E=>?>7<< ?D< 
D5L5=<< 7444G 6 ED5D5 
D47D45>F>4 <5D ?> 
?>6OL5=<N 
MDD5>F<6=>EF< 
<E?>?L7>64=<O 
FD4=E?>DF=>-

F5E=>?>7<G5E><E 
>><??5>E>6
�?445FL:
- =46O>4<< ?D<=OF<O 
>5>E=>64==OE 
F5E=<G5E><E D5L5=<=, 
6O5>D4 MDD5>F<6=OE < 
557>?4E=OE 
F5E=<G5E><E ED54EF6, < 
F5E=>?>7<= ?D< 
D5L5=<< 7444G 6 ED5D5 
D47D45>F>4 <5D ?> 
?>6OL5=<N 
MDD5>F<6=>EF< 
<E?>?L7>64=<O 
FD4=E?>DF=>-

F5E=>?>7<G5E><E 
>><??5>E>6



7. %&$'�&'$� � %���$����� ''����� �$��&���
�5M4O FDG4>5<>>EFL ?D4>F<>< E>EF46?O5F 3 74G5F=O5 54<=<FO, 108 G4E>6, 

>>=F4>F=4O D45>F4 E> EFG45=F4<< 0,25 G4E4.

7 
?/?

$4745?O 
(MF4?O) 

?D4>F<><

�<4O GG55=>= D45>FO, =4 ?D4>F<>5, 
6>?NG4O E4<>EF>OF5?L=GN D45>FG EFG45=F>6

&DG4>5<
>>EFL,
(6 4>. 
G4E4E)

$>D<O 
F5>GM57> 
>>=FD>?O

1 

�>47>F>6
<F5?L=O= 
MF4?

�7=4>><<F5?L=4O ?5>F<O, <=EFDG>F46 ?> 
>ED4=5 FDG44, ?>?GG5=<5 7444=<O >F 
DG>>6>4<F5?O ?D4>F<><

2 

'G5F 
?>E5M45<>EF<, 
74?<EL 6 6GD=4?5 
?> �&

2 
'G55=O= 
MF4?

�E=>6O F5E=<G5E>>7> >5E?G6<64=<O 
46F><>5<?5=. 10 

�FG5F ?> GG55=>= 
?D4>F<>5

'EFD>=EF6>, ?D<=F<? 45=EF6<O < 
F5E=<G5E><5 E4D4>F5D<EF<>< >E=>6=OE <4D>> 
F5E=>?>7<G5E>>7> >5>DG4>64=<O 4?O 
?D>6545=<O F5E=<G5E>>7> E5D6<E4 
46F><>5<?5=;

10 
�FG5F ?> GG55=>= 
?D4>F<>5

�D<E?>E>5?5=<O < <=EFDG<5=F 4?O 
?D>6545=<O F5E=<G5E>>7> >5E?G6<64=<O < 
D5<>=F4 46F><>5<?5=.

10 
�FG5F ?> GG55=>= 
?D4>F<>5

�7GG5=<5 ?D><76>4EF65==>7> ?D>F5EE4 
F5E=<G5E>>7> >5E?G6<64=<O < D5<>=F4 =4 
46F>FD4=E?>DF=OE ?D54?D<OF<OE < EF4=F<OE 
F5E=<G5E>>7> >5E?G6<64=<O 46F><>5<?5=.

10 
�FG5F ?> GG55=>= 
?D4>F<>5

�7GG5=<5 F5E=>?>7<G5E>>7> ?D>F5EE4 
F5E=<G5E>>7> >5E?G6<64=<O < D5<>=F4, 
<5E4=<7<>6 < E<EF5< 46F><>5<?5=.

10 
�FG5F ?> GG55=>= 
?D4>F<>5

�5E?G6<64=<5 < D5<>=F E<EF5<O ?<F4=<O 
4<75?L=OE, 55=7<=>6OE < 747>54??>==OE 
46<74F5?5=.

10 
�FG5F ?> GG55=>= 
?D4>F<>5

�5E?G6<64=<5 < D5<>=F FD4=E<<EE<< 
46F><>5<?5=, EF5??5=<O, >>D>5>< ?5D5<5=O 
?5D544G < 654GM<E <>EF>6 46F><>5<?5=.

10 
�FG5F ?> GG55=>= 
?D4>F<>5

�5E?G6<64=<5 < D5<>=F E>4>6>= G4EF<, 
DG?56>7> G?D46?5=<O 46F><>5<?5=.

10 
�FG5F ?> GG55=>= 
?D4>F<>5

�>47>F>6>4 46F><>5<?5= > D5<>=FG. $5<>=F  
FD4=E?>DF=OE < FD4=E?>DF=>-
F5E=>?>7<G5E><E <4L<= < FD4=E?>DF=>7> 
>5>DG4>64=<O.

7,75 
�FG5F ?> GG55=>= 
?D4>F<>5

�O?>?=5=<5 D45>F ?> >4=>= <?< 
=5E>>?L><< ?D>D5EE<O< D45>G<E 
74=<<4NM<EEO F5E=<G5E><< E5D6<E>< 
46F><>5<?5=.

10 
�FG5F ?> GG55=>= 
?D4>F<>5

�>EF4=>6>4 =4 ED4=5=<5 FD4=E?>DF=OE < 
FD4=E?>DF=>-F5E=>?>7<G5E><E <4L<= < 
FD4=E?>DF=>7> >5>DG4>64=<O.

8 
�FG5F ?> GG55=>= 
?D4>F<>5

3 
�4>?NG<F5?
L=O= MF4?

%44G4 >FG5F4 ?> ?D4>F<>5.

�4M<F4 >FG5F4 ?> ?D4>F<>5.
0,25 74G5F

�&��� 108 



8. ��$�����&��,�/�, ��''��-�%%������&��,%��� � ��''��-

�$������%&����/� &�%�������, �%���,�'��/� �� �$��&���

�E=>6=O<< <5F>44<<, <E?>?L7G5<O<< ?D< ?>?GG5=<< D57G?LF4F>6 >E6>5=<O =46O>>6
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>5M<< < <5EF=O< >E65M5=<5<, >55E?5G<64NM<< 55E?D5?OFEF65==>5 =4E>645=<5 G>474==O< 
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(?5D5=>E=>=) - 1LF, ->D4= 4?O ?D>5>F>D4 SCREEN MEDIA =4 
FD5=>75 (?5D5=>E=>=) - 1 LF.

433511,  

'?LO=>6E>4O >5?4EFL,
7. �<<<FD>67D44, 
G?. �G=5OL564, 4.310



�?5D4F<>==4O E<EF5<4: Calculate Linux;
�=F5D=5F 5D4G75D: Firefox;
�D<E=>5 ?D<?>65=<5: LibreOffice;
�G?LF<<54<4: SMplayer;
�D4D<G5E><= D544>F>D: gThumb.�DE<64F>D 7-zip

�><5M5=<5 4?O E4<>EF>OF5?L=>= D45>FO 7 36 «�><?LNF5D=O= 
>?4EE»
�><??5>F GG55=>= <555?< 4?O ?D5?>4464F5?O,
�><??5>F GG55=>= <555?< 4?O >5GG4NM<EEO =4 38 <5EF;
�=F5D=5F->4<5D4 D-Link DCS-910 12.10.2009 3 1 LF.,
%<EF5<=O= 5?>> «Colors»-4LF., �>=<F>D «Samsung»- 6 LF., 
�>=<F>D «LG»-6 LF.
�D<E=O= ?4>5F Microsoft Office Professional Plus 2007 Rus

�DE<64F>D 7-zip.

Microsoft Open License 62300500ZZE0906 >F 14.06.20077.

433511,  

'?LO=>6E>4O >5?4EFL,
7. �<<<FD>67D44, 
G?. �G=5OL564, 4.310

�><5M5=<5 4?O E4<>EF>OF5?L=>= D45>FO (G<F4?L=O= 74? 
5<5?<>F5><)
�><?LNF5DO: Intel(R) Celeron(R) CPU 1.70GHz / ��' 384Mb - 4 LF. 
E 6OE>4>< 6 E5FL �=F5D=5F, EF>?O < EFG?LO =4 80 ?>E44>G=OE <5EF.
�D<E=O= ?4>5F Microsoft Office Professional Plus 2007 Rus

�DE<64F>D 7-zip.

Microsoft Open License 62300500ZZE0906 >F 14.06.20077.

�D>7D4<<=>5 >55E?5G5=<5 «�D>7D4<<=4O E<EF5<4 4?O >5=4DG65=<O 
F5>EF>6OE 74<<EF6>64=<= 6 GG55=OE < =4GG=OE D45>F4E 
«�=F<??47<4F.�'�» . �>7>6>D 7 18 >F 28 <4O 20197.

433511,  

'?LO=>6E>4O >5?4EFL,
7. �<<<FD>67D44, 
G?. �G=5OL564, 4.310

�><5M5=<5 4?O ED4=5=<O < ?D>D<?4>F<G5E>>7> >5E?G6<64=<O 
GG55=>7> >5>DG4>64=<O 7 64
�555?L 4?O ED4=5=<O. %N5<=>5 < 6E?><>74F5?L=>5 >5>DG4>64=<5, 
=4E>4OM55EO =4 ED4=5=<< < >5E?G6<64=<<.

433511,  

'?LO=>6E>4O >5?4EFL,
7. �<<<FD>67D44, 
G?. �G=5OL564, 4.310

�><5M5=<5 4?O ED4=5=<O < ?D>D<?4>F<G5E>>7> >5E?G6<64=<O 
GG55=>7> >5>DG4>64=<O (>><?LNF5D=>= F5E=<><) 7 32a

%F5??46-1 LF., ?>?>4 1 LF., EF>?-8 LF., 
=>GF5G> Samsung NP300 E5C - 1 LF., 
�?5D4F<>==4O E<EF5<4: Calculate Linux

>D<E=O= ?4>5F LibreOffice 5.3 (&5>EF>6O= ?D>F5EE>D (LibreOffice 
Writer), -?5>FD>==4O F45?<F4 (LibreOffice Calc), �D575=F4F<O 
(LibreOffice Impress), $544>F>D D<EG=>>6 (LibreOffice Draw), �47O 
44==OE (LibreOffice Base))
�DE<64F>D 7-zip

�5DE>=4?L=O5 >><?LNF5DO ?D>F5EE>D Intel(R) Pentium (R) CPU

3GHz / ��' 1,49Gb 3 6 LF.
�?5D4F<>==4O E<EF5<4: Calculate Linux

>D<E=O= ?4>5F LibreOffice 5.3 (&5>EF>6O= ?D>F5EE>D (LibreOffice 
Writer), -?5>FD>==4O F45?<F4 (LibreOffice Calc), �D575=F4F<O 
(LibreOffice Impress), $544>F>D D<EG=>>6 (LibreOffice Draw), �47O 
44==OE (LibreOffice Base))
�DE<64F>D 7-zip

433511,  

'?LO=>6E>4O >5?4EFL,
7. �<<<FD>67D44, 
G?. �G=5OL564, 4.310



$45>G4O ?D>7D4<<4 E>EF46?5=4 6 E>>F65FEF6<< E FD55>64=<5< $��% �� ?> 
=4?D46?5=<N 23.03.03 «->E??G4F4F<O FD4=E?>DF=>-F5E=>?>7<G5E><E <4L<= < >><??5>E>6», 
GF65D645==O= ?D<>47>< �<=<EF5DEF64 >5D47>64=<O < =4G>< $>EE<=E>>= $545D4F<< >F 07
467GEF4 2020 7. N 916. �D>D5EE<>=4?L=O= EF4=44DF 13.001 %?5F<4?<EF 6 >5?4EF< 
<5E4=<74F<< E5?LE>>7> E>7O=EF64, GF65D645==O= ?D<>47>< �<=<EF5DEF64 FDG44 < 
E>F<4?L=>= 74M<FO $>EE<=E>>= $545D4F<< >F 02 E5=FO5DO 2020 7. 7 555= (�5>5M5==4O 
FDG4>64O DG=>F<O D6 �D74=<74F<O >5E?G6<64=<O < M>E??G4F4F<< E5?LE>>E>7O=EF65==>= 
F5E=<><, FDG4>6O5 DG=>F<<: D/01.6 �D74=<74F<O F5E=<G5E>>7> >5E?G6<64=<O < D5<>=F4 
E5?LE>>E>7O=EF65==>= F5E=<>< 6 >D74=<74F<<; D/02.6 �D74=<74F<O M>E??G4F4F<< 
E5?LE>>E>7O=EF65==>= F5E=<>< 6 >D74=<74F<<; D/03.6 �D74=<74F<O D45>FO ?> ?>6OL5=<N 
MDD5>F<6=>EF< F5E=<G5E>>7> >5E?G6<64=<O < M>E??G4F4F<< E5?LE>>E>7O=EF65==>= F5E=<><).

 $45>G4O ?D>7D4<<4 >4>5D5=4 =4 74E544=<< <5F>4<G5E>>7> E>65F4  <=65=5D=>-
технологического D4>G?LF5F4 «_115_»_<4O_2023 7>44, ?D>F>>>? 7 _10_ 

$5F5=75=F: �.&.�., ��&��& �5FDO>>6 %.�.
�D>7D4<<4 D4EE<>FD5=4 =4 74E544=<< >4D54DO «->E??G4F4F<O <>5<?L=OE <4L<= < 
E>F<4?L=>-7G<4=<F4D=OE 4<EF<??<=» «_15_»_<4O_2023 7>44, ?D>F>>>? 7 _10_.

�6F>D: 4.F.=., ?D>D5EE>D %>E?>6 �.�.



�D<?>65=<5 1

�5F>4<G5E><5 G>474=<O ?> E>EF46?5=<N >FG5F4 > ?D>E>645=<< 
GG55=>= ?D4>F<><: F5E=>?>7<G5E>4O (?D><76>4EF65==>-F5E=>?>7<G5E>4O) ?D4>F<>4

� E>45 ?D4>F<>< EFG45=F E>EF46?O5F <F>7>6O= ?<EL<5==O= >FG5F. &5?L >FG5F4 3
?>>474FL EF5?5=L ?>?=>FO 6O?>?=5=<O EFG45=F>< ?D>7D4<<O GG55=>= ?D4>F<><. � >FG5F5 
>FD464NFEO <F>7< 45OF5?L=>EF< EFG45=F4 6> 6D5<O ?D>E>645=<O ?D4>F<>< 6 E>>F65FEF6<< E 
D4745?4<< < ?>7<F<O<< D45>G5= ?D>7D4<<O.

�5N5< >FG5F4 (>E=>6=>= F5>EF) 3 15&20 EFD4=<F. &45?<FO, EE5<O, 4<47D4<<O, 
G5DF56< <>6=> ?><5EF<FL 6 ?D<?>65=<O, 6 MF>< E?GG45 6 >E=>6=>= >5N5< >FG5F4 >=< =5 
6E>4OF. %?<E>> 4>>G<5=F>6, =>D<4F<6=OE < <=EFDG>F<6=OE <4F5D<4?>6 < ?<F5D4FGDO 6 
>E=>6=>= >5N5< >FG5F4 =5 6>?NG4NFEO.

�FG5F > ?D4>F<>5 4>?65= E>45D64FL: 
÷ F<FG?L=O= ?<EF (?D<?>65=<5 2);
÷ <=4<6<4G4?L=>5 7444=<5 (?D<?>65=<5 3);
÷ >7?46?5=<5 (E>45D64=<5);
÷ 66545=<5;
÷ >E=>6=GN G4EFL;
÷ E?<E>> <E?>?L7>64==OE <EF>G=<>>6;
÷ ?D<?>65=<O.

� >FG5F5 > ?D4>F<>5 =5>5E>4<<> >FD47<FL E?54GNM<5 ?>7<F<<:
- >5M55 GEFD>=EF6> 46F><>5<?O;
- >5M55 GEFD>=EF6> F5E=>?>7<G5E>>7> >5>DG4>64=<O 4?O ?D>6545=<O 
F5E=<G5E>>7> E5D6<E4 =475<=OE FD4=E?>DF=>-F5E=>?>7<G5E><E <4L<= < 
>><??5>E>6;

- F5E=>?>7<N ?D>6545=<O F5E=<G5E>>7> >5E?G6<64=<O 46F><>5<?O.
� >>=F5 >FG5F4 EFG45=FO G>47O64NF 44FG 57> E>EF46?5=<O < EF46OF E6>N ?>4?<EL. 

�FG5F > ?D4>F<>5 4>?65= 5OFL =45D4= =4 >><?LNF5D5 (LD<DF Times New Roman;

D47<5D 14 pt; <=F5D64? 1,5; ?>?O: E?564 3 E<, E?D464 1 E<, E65DEG < E=<7G ?> 2 E<)  < 
?D46<?L=> >D>D<?5=:

- 6 >7?46?5=<< 4>?6=O 5OFL G>474=O 6E5 D4745?O < ?>4D4745?O >FG5F4 < 
EFD4=<FO, E >>F>DOE >=< =4G<=4NFEO;
- D4745?O < ?>4D4745?O >FG5F4 4>?6=O 5OFL E>>F65FEF65==> 6O45?5=O 6 F5>EF5;
- >5O74F5?L=4 E??>L=4O =G<5D4F<O EFD4=<F, F45?<F, D<EG=>>6 < F. 4., >>F>D4O 
4>?6=4 E>>F65FEF6>64FL >7?46?5=<N;
- >FG5F 5D>LNDG5FEO 6 ?4?>G.

�<EL<5==O= >FG5F ?D>65DO5FEO E <E?>?L7>64=<5< E E<EF5<O «�?47<4F4. ��&», 
E>7?4E=> >>F>D><G, >5=4DG65=<5 ??47<4F4 O6?O5FEO >E=>64=<5< 4?O =5 4>?GE>4 ?<EL<5==>= 
D45>FO > 74M<F5 (?D<?>65=<5 4).
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�<=<EF5DEF6> E5?LE>>7> E>7O=EF64 $>EE<=E>>= $545D4F<<

ТИ-филиал $���' �� '?LO=>6E><= ��'

�4D54D4 «Эксплуатация мобильных машин и социально-гуманитарных дисциплин»

�FG5F 
?> GG55=>= ?D4>F<>5: F5E=>?>7<G5E>>= (?D><76>4EF65==>-F5E=>?>7<G5E>>=)

?D4>F<>5

�O?>?=<? (4):
EFG45=F (>4) <=65=5D=>-технологического 
D4>G?LF5F4 �4?D46?5=<5: -&&� < �
�D>D<?L ?>47>F>6><: «�6F><>5<?< < 

46F><>5<?L=>5 E>7O=EF6>»
_________________________________ 

$.�.�.

$G>>6>4<F5?L ?D4>F<>< >F G=<65DE<F5F4

__________________________________ 
(GG5=4O EF5?5=L, GG5=>5 764=<5, $.�.�.)

Димитровград 20____



�D<?>65=<5 3 
�<=<EF5DEF6> E5?LE>>7> E>7O=EF64 $>EE<=E>>= $545D4F<<

ТИ-филиал $���' �� '?LO=>6E><= ��' 

$4>G?LF5F <=65=5D=о-технологический

�4D54D4 «Эксплуатация мобильных машин и социально-гуманитарных дисциплин»

�������'��,��� �������
?> GG55=>= ?D4>F<>5: F5E=>?>7<G5E>>= (?D><76>4EF65==>-F5E=>?>7<G5E>>=) ?D4>F<>5

�O44=> EFG45=FG ____ >GDE4 <=65=5D=>-технологичского D4>G?LF5F4
_____________ D>D<O >5GG5=<O

_____________________________________________________ 

$��

23.03.03 ->E??G4F4F<O FD4=E?>DF=>-F5E=>?>7<G5E><E <4L<= < >><??5>E>6 
�5EF> ?D>E>645=<O ?D4>F<><: ________________________________________________
%D>>< ?D>E>645=<O ?D4>F<><  E               3 ?> . 

��$�'��, �������'��,�/% �������, �������-�% 
$��$���&�� �� �$��&���

7 
�?4=<DG5<O5 D>D<O D45>FO �D<<5G4=<5

1. �5M55 GEFD>=EF6> F5E=>?>7<G5E>>7> >5>DG4>64=<O ______________ 
4?O ?D>6545=<O F5E=<G5E>>7> E5D6<E4 =475<=OE =475<=OE 
FD4=E?>DF=>-F5E=>?>7<G5E><E ED54EF6 < >5>DG4>64=<O. 

2. 

&5E=>?>7<O ?D>6545=<O F5E=<G5E>>7> >5E?G6<64=<O 
46F><>5<?O (FD4>F>D4) ____________________

$G>>6>4<F5?L ?D4>F<>< 
>F G=<65DE<F5F4 _______________________   
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��/������
� %���%&�/&��,��� %�$��&�$� �&'�&�

�� ''����� �$��&���

/, __________________________________________________________ ,
%FG45=F (>4) ___ >GDE4 <=65=5D=>7> D4>G?LF5F4, =4?D46?5=<5 23.03.03 ->E??G4F4F<O 
FD4=E?>DF=>-F5E=>?>7<G5E><E <4L<= < >><??5>E>6, ?D>D<?L ?>47>F>6><: «�6F><>5<?< < 
46F><>5<?L=>5 E>7O=EF6>» 74O6?ON, GF> 6 <>5< >FG5F5 ?> GG55=>= ?D4>F<>5 =5 E>45D6<FEO 
M?5<5=F>6 ??47<4F4. �E5 ?DO<O5 74<<EF6>64=<O <7 ?5G4F=OE < M?5>FD>==OE <EF>G=<>>6, 4 
F4>65 <7 74M<M5==OE D4=55 ?<EL<5==OE D45>F, <<5NF E>>F65FEF6GNM<5 EEO?><. 

/ >7=4>><?5=(4) E 45=EF6GNM<< 6 '=<65DE<F5F5 �>?>65=<5< > ?D4>F<>5 
>5GG4NM<EEO, >E64<64NM<E ���� �� E <E?>?L7>64=<5< E<EF5<O «�=F<??47<4F», 
E>7?4E=> >>F>D><G >5=4DG65=<5 ??47<4F4 O6?O5FEO >E=>64=<5< 4?O =5 4>?GE>4  D45>FO > 
74M<F5 < ?D<<5=5=<O 4<EF<??<=4D=OE <5D 6??>FL 4> >FG<E?5=<O <7 '=<65DE<F5F4.

«____» _________ 20___ 7. _________/__________



�D<?>65=<5 5
�&�/�

> >4G5EF65 6O?>?=5=<O EFG45=F>< GG55=>= ?D4>F<>< 
E> EF>D>=O DG>>6>4<F5?O ?D4>F<>< >F G=<65DE<F5F4

%FG45=F (>4) ____ >GDE4 <=65=5D=>-технологического D4>G?LF5F4 
$�� ___________________________________________________________
23.03.03 ->E??G4F4F<O FD4=E?>DF=>-F5E=>?>7<G5E><E <4L<= < >><??5>E>6 
�D>D<?L ?>47>F>6><:  «�6F><>5<?< < 46F><>5<?L=>5 E>7O=EF6>»_______ D>D<4 >5GG5=<O
�D>E>4<? (4) GG55=GN ?D4>F<>G E ______________ 20__ 7>44 ?> __________ 20___ 7>44
� ?5D<>4 ?D>E>645=<O ?D4>F<>< >5GG4NM<=EO ?>4F65D4<? ED>D<<D>64==>EFL 
E?54GNM<E >5M5?D>D5EE<>=4?L=OE < ?D>D5EE<>=4?L=OE >><?5F5=F<= 

�>4 
>><?5F5

=F<<

�><?5F5=F<O �F5=>4
(>E6>5=4/

=5 >E6>5=4)
'�-4 %?>E>55= >EGM5EF6?OFL 45?>6GN >><<G=<>4F<N 6 GEF=>= < 

?<EL<5==>= D>D<4E =4 7>EG44DEF65==>< O7O>5 $>EE<=E>>= 
$545D4F<< < <=>EFD4==><(OE) O7O>5(4E)

���-3

%?>E>55= 6 ED5D5 E6>5= ?D>D5EE<>=4?L=>= 45OF5?L=>EF< 
?D>6>4<FL <7<5D5=<O < =45?N45=<O, >5D454FO64FL < 
?D54EF46?OFL M>E?5D<<5=F4?L=O5 44==O5 < D57G?LF4FO 
<E?OF4=<=;

���-4

%?>E>55= ?>=<<4FL ?D<=F<?O D45>FO E>6D5<5==OE 
<=D>D<4F<>==OE F5E=>?>7<= < <E?>?L7>64FL <E 4?O D5L5=<O 
7444G ?D>D5EE<>=4?L=>= 45OF5?L=>EF<;

���-5

%?>E>55= ?D<=<<4FL >5>E=>64==O5 F5E=<G5E><5 D5L5=<O, 
6O5<D4FL MDD5>F<6=O5 < 557>?4E=O5 F5E=<G5E><5 ED54EF64 < 
F5E=>?>7<< ?D< D5L5=<< 7444G ?D>D5EE<>=4?L=>= 
45OF5?L=>EF<;

�D4F>4O E4D4>F5D<EF<>4 E>45D64=<O >FG5F4.
�5M4O E4D4>F5D<EF<>4 E>>F65FEF6<O >FG5F4 <=4<6<4G4?L=><G 7444=<N, >4G5EF6> 

>D>D<?5=<O >FG5F4, ?>?>6<F5?L=O5 < >FD<F4F5?L=O5 4E?5>FO >FG5F4

�4G5EF6> 6O?>?=5=<O D45>FO 6 E>>F65FEF6<< E <=4<6<4G4?L=O< 7444=<5< 
________________ 

$G>>6>4<F5?L ?D4>F<>< ___________________________________________
(4>?6=>EFL, ?>4?<EL, $.�.�.)

«____» ______________ ___  20____ 7. 


